
1) 986 - 976

Answer: ____________

2) 102 + 3 + 3

Answer: ____________

3) 608 ÷ (-32)

Answer: ____________

4) 172 + 17 x 16

Answer: ____________

5) 314 x 439

Answer: ____________

6) (-808) - (-241)

Answer: ____________

7) (-808) - (-241)

Answer: ____________

8) 286 + 529

Answer: ____________

9) 286 + 529

Answer: ____________

10) 1110 ÷ 30

Answer: ____________

11) (20 x 10) - (162 - 19)

Answer: ____________

12) Find the mean of the following set of data:

30, 0.8, 28, 0.6, 34, 9

Answer: ____________

13) Round 12.0566953 to the nearest 100

Answer: ____________

14) Round 18.58080 to the nearest 100

Answer: ____________

15) Round 18.58080 to the nearest 100

Answer: ____________
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16) 588 + 730

Answer: ____________

17) (-908) - 662

Answer: ____________

18) (-41) x 20

Answer: ____________

19) (-41) x 20

Answer: ____________

20) (-41) x 20

Answer: ____________

21) Round 1.686932 to the nearest 1000

Answer: ____________

22) Round 1.686932 to the nearest 1000

Answer: ____________

23) Round 1.686932 to the nearest 1000

Answer: ____________

24) Round 0.56952388 to 2 significant 
figures.

Answer: ____________

25) Find the range of the following set of data:

-12, 0, 8, -4, 9, 0.9, 0.8

Answer: ____________

26) 805 + 141

Answer: ____________

27) 625 ÷ 25

Answer: ____________

28) 897 ÷ 39

Answer: ____________

29) 897 ÷ 39

Answer: ____________

30) Round 13.4565 to 2 significant 
figures.

Answer: ____________
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31) 32 ÷ (-32)

Answer: ____________

32) 32 ÷ (-32)

Answer: ____________

33) 819 ÷ (-21)

Answer: ____________

34) 130 ÷ 13

Answer: ____________

35) 130 ÷ 13

Answer: ____________

36) 5 ÷ 2 x 13 + 8

Answer: ____________

37) 5 ÷ 2 x 13 + 8

Answer: ____________

38) 895 + (-130)

Answer: ____________

39) 544 - 225

Answer: ____________

40) 6 x 1000

Answer: ____________

41) 439 - 399

Answer: ____________

42) Find the median of the following set of data:

20, 17, 17, 22, 3, 20, 9, 21, 20, 8, 
40, 38, 11, 5

Answer: ____________

43) Find the median of the following set of data:

29, 5, 26, 17, 39, 25, 28, 31, 38, 24, 
23, 30

Answer: ____________

44) Find the range of the following set of data:

3, 10, 0.1, 17, -11

Answer: ____________

45) (-165) ÷ 33

Answer: ____________
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46) Find the median of the following set of data:

12, 38, 8, 19, 11, 38, 24, 34, 19, 30, 
25

Answer: ____________

47) 648 x 472

Answer: ____________

48) 851 - (-157)

Answer: ____________

49) 1122 ÷ 33

Answer: ____________

50) 1122 ÷ 33

Answer: ____________

51) 9 - 5 + (10 x 6)

Answer: ____________

52) Find the range of the following set of data:

-18, -6, 17, 14

Answer: ____________

53) 38 x 10

Answer: ____________

54) (-1225) ÷ 35

Answer: ____________

55) Find the mean of the following set of data:

3, 34, 36

Answer: ____________

56) 342 ÷ 18

Answer: ____________

57) 923 + 455

Answer: ____________

58) Find the mode of the following set of data:

14, 14, 14, 27, 27, 27, 65, 65, 65, 
22, 22

Answer: ____________

59) Find the mode of the following set of data:

14, 14, 14, 27, 27, 27, 65, 65, 65, 
22, 22

Answer: ____________

60) 886 - 179

Answer: ____________
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61) 23000 ÷ 1000

Answer: ____________

62) 23000 ÷ 1000

Answer: ____________

63) Find the mean of the following set of data:

8, 0.1, 0.9

Answer: ____________

64) 416 ÷ 13

Answer: ____________

65) 22000 ÷ 1000

Answer: ____________

66) Round 6.6218 to 2 significant figures.

Answer: ____________

67) (-754) ÷ 26

Answer: ____________

68) 4 x 10

Answer: ____________

69) 4 x 10

Answer: ____________

70) Find the mode of the following set of data:

100, 100, 100, 100, 71, 71, 28, 28, 
72, 72, 72

Answer: ____________

71) 843 - 620

Answer: ____________

72) 821 x 595

Answer: ____________

73) 669 + 814

Answer: ____________

74) Find the mode of the following set of data:

93, 93, 93, 93, 62, 62, 62, 62, 62, 
93, 93, 93, 100, 100, 100, 100, 100, 
100

Answer: ____________

75) 988 ÷ 38

Answer: ____________
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76) Find the range of the following set of data:

-0.3, -0.5, -4, -16, 10, 3, 0.8

Answer: ____________

77) Find the range of the following set of data:

-0.3, -0.5, -4, -16, 10, 3, 0.8

Answer: ____________

78) Find the range of the following set of data:

-0.3, -0.5, -4, -16, 10, 3, 0.8

Answer: ____________

79) 640 ÷ (-20)

Answer: ____________

80) 16 - 19 + 18 - 11

Answer: ____________

81) 16 - 19 + 18 - 11

Answer: ____________

82) 13 x 100

Answer: ____________

83) 13 x 100

Answer: ____________

84) 13 x 100

Answer: ____________

85) 13 x 100

Answer: ____________

86) Find the range of the following set of data:

-6, 16, -5, 7, 0.3

Answer: ____________

87) 586 + 219

Answer: ____________

88) (-356) - 949

Answer: ____________

89) (-356) - 949

Answer: ____________

90) (-356) - 949

Answer: ____________
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91) Find the mode of the following set of data:

12, 12, 72, 72, 48, 48, 93, 93, 93, 
93, 93, 93, 9, 9, 9, 9, 54, 54, 54, 54

Answer: ____________

92) 965 - 811

Answer: ____________

93) 347 - (-215)

Answer: ____________

94) (-352) ÷ (-32)

Answer: ____________

95) 171 + 276

Answer: ____________

96) 171 + 276

Answer: ____________

97) Find the median of the following set of data:

14, 32, 40, 27, 5, 27, 3, 4, 5, 13, 8, 
18, 26, 29

Answer: ____________

98) Find the median of the following set of data:

14, 32, 40, 27, 5, 27, 3, 4, 5, 13, 8, 
18, 26, 29

Answer: ____________

99) Find the median of the following set of data:

14, 32, 40, 27, 5, 27, 3, 4, 5, 13, 8, 
18, 26, 29

Answer: ____________

100) Find the median of the following set of data:

14, 32, 40, 27, 5, 27, 3, 4, 5, 13, 8, 
18, 26, 29

Answer: ____________

Total: ___ / 100
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Answers:

1) 10 2) 106 3) -19 4) 5) 137846 6) -567 7) -567

8) 815 9) 815 10) 37 11) 12) 17.07 13) 12.06 14) 18.58

15) 18.58 16) 1318 17) -1570 18) 19) 20) 21) 1.687

22) 1.687 23) 1.687 24) 0.57 25) 21 26) 946 27) 25 28) 23

29) 23 30) 13 31) -1 32) -1 33) -39 34) 10 35) 10

36) 37) 38) 765 39) 319 40) 6000 41) 40 42) 15

43) 26.5 44) 28 45) -5 46) 38 47) 305856 48) 1008 49) 34

50) 34 51) 52) 35 53) 380 54) -35 55) 24.33 56) 19

57) 1378 58) 65 59) 65 60) 707 61) 23 62) 23 63) 3

64) 32 65) 22 66) 6.6 67) -29 68) 40 69) 40 70) 100

71) 223 72) 488495 73) 1483 74) 93 75) 26 76) 26 77) 26

78) 26 79) -32 80) 4 81) 4 82) 1300 83) 1300 84) 1300

85) 1300 86) 22 87) 805 88) -1305 89) -1305 90) -1305 91) 93

92) 154 93) 562 94) 11 95) 447 96) 447 97) 3.5 98) 3.5

99) 3.5 100) 3.5
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